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(4 Indore

il Wthh of the following is not part of the
Panchayat1 Raj system in India ?

'/ (1) Zila Parishad
ii1ll{2) " Gram Parishad
@) Gram Sabha
(4 Gram Panchayat

i (5) ' Not attempted

|4 .‘-‘ Where is the National Gallery of Moder ¥
located ? _
' (1) New Delni
o (2) Kolkata
7 @) Mumbai
i @ Nagpur
i \‘(‘5)‘ ' Not attempted

‘ Whom did India beat in the Finals of Asi2”

One Day Cricket Tournament held in 17 e
120237

(1) Sri Lanka

(2) Nepal

(3) Pakistan
_(4) Bangladesh /f

When natural Products gy,
forms through ways of

are chap
anged
known as : Manyf, '0t0 othe

Cluring, it ig
(1) Tertiary sector

(2) Industrial secty,
(3) Primary sector
(4) Secondary secty;
(5) Not attempted

In which district of y,q,
Khajuraho Group of Moy, Y2 Pradesh, are

ment:
(1) Chhatarpur mtslocteg
(2) Jabalpur
(3) Gwalior

(5) Not attempted

(5)  Not attempted
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6.

8.

g T 7 o o ¥ I Hee & g S

6. In which year did the United Nations adopt
Wﬁ?ﬂﬁé&ﬁﬁ?{ ST ? the UN Guidelines for Consumer Protection ?
(1) 1985 ) s
2 1990 (2) 1990
(3) 1986 (3) 1986
4) 1987 ‘ (4) 1987
(o ST T A e (5) Not attempted

I e i fer €2 7. Where is Salar Jung Museum located ?
(1) aﬁ{ (1) Mysore
(2) T 2) Goa
(3) (3) Bhopal
(4) TR (4) Hyderabad
(5) SR < TR (5) Not attempted :
Rmteh i < SR H frfefen weri W fEr 8. Consider the following statements about
TS| T T HI T T 8 2 Democratic Governments, Which statement
(1) e B SRS wehds % w9 H w ismoticorreggl [
(1) Democracy is also known as

Fﬂ?ﬂ% N ¥ 5 representative democracy

@) i Gl ﬁ il (2) Democracy guarantees universal adult

2 franchise

(3) iiehda H TR <h 319 et whi fHeiferd = (3)  Indemocracy people have power to elect
I ARIHR B 7 their leaders
Aehas ohl ST9as & ©9 H oY GTHTG‘HT %\ .(4)‘ Democracy is also known as Oligarchy
(5) SRS o =R (5) Not attempted
9. T=E H ‘Hien U’ = ] AT 8 ? 9. Why Earth is called the ‘blue planet’?
(1) =ifr 398 Siem B (1) Because it has life.
@) qaf[ﬁ; get %1 91 whow ¥ Irfes Tﬂ'—ﬁ kol (2) Because more than 91% of the Earth is
0N covered with water.
| FULR (3) Because it is blue in colour.
) T'T I (4) Because more than 71% of the Earth is
((,4) CRIIED tl%ﬁ %1 71 Hfe 9 et Ol | _ covered with water.
AT 7 ) (5) Not attempted
(5) =R W =R |
10. In which year did Gandhiji arrive in India from
10, TS gfor STt | W # fRw A # | e South Africa ?
47 (1) 1917
/(J,’ 1917 @ 1921
(é)) 1921 (3) 1907
1907
(4) 1915 ((‘;)) ’ 11\1915“ 5
5 ot attempte
.H___SLW Tl <A1 =T
ANTY | Fp T 1Y o 1T 72T | SPACE FOR ROUGH WORK

Page 3



S Gulde

o tlc

12.

(A)-(111),
(EA‘.\J‘F((EQ}'
(A] 1), (C)-(1D), (D)-(y

(1), (B)-(), (C)-(Iv), (D)-m)

12

19.

M STTd @ 2

wood ¢

\ e
\ (1) E
o

()
\=)




WWW.prepp.in

b EZTW T SIS S 3ot e 3 ferrge fordt &
Afeensll g s s ¥, fra e

we H e B &
(1) Tl
(2) e
POR
4 N L
(5) ST TE T T
16. & WISl S ot fereer W A G A wew &9 E 4
a Sehfrrel: ‘
(1) SSHH
(2) 3T A AR
YA
4) &Wa

(5) SR AE oAl =ed

17. T 3 TR 6 WA A S ©

(1) 98.4°C

4 98¢
(3) [1353@
(@) IBEEC
(5) SR el & =ed

18, Frefefan & & S TR ¥ o o H HerE

®? ; .
(1) T i

y2 e T HIRHT
3) ferdredfer

4) T T HITRT
(5) TR & AR

Jo. it i e T A B 2 |

15.

16.

17.

18.

19.

Khabar Lahriya, a newspaper Tun by "’,ght
ot dIBtHCtr

Dalit Women in Chitrako , 1
Uttar Pradesh, comes out in which loca

language ?

(1) Pishoni
(2) Awadhi
(3) Bundeli
(4) Tulu

(5) Not attempted

The substances which turn red litmus into

blue are in nature.
(1) Neutral

(2) Acidic or Basic

(3) Acidic

(4) Basic

(5) Not attempted

The normal temperature of human body is :

(1) 98.4°C
(2) 98°C
8] i85°¢

)i 37FC

(5) Not attempted

|

Which of the following helps in clotting of
blood ?

(1) Platelets

(2) White Blood Cells

(3) Haemoglobin

(4) Red Blood Corpuscles
(5) Not attempted

Which is the most common carrier of
communicable diseases ?

(1) :;I;—W (1) Dragonfly

(2) i i (2) Ant

(3) ’Eﬁ'ﬁ\ (3) Housefly

(4) FAHFE! (4)  Fruitfly

(5) o AE & AT (5) Not attempted i

HANTY / F2

=0 1 o fe1C 2ol / SPACE FOR ROUGH WORK

Page 5

et O T SO e



WWW.prepp.in

20.

21.

22.

23.

Species found only iy
; a

B N
TSI S e fad am # @ oré o € 9% | 20
FEd 2 known as : Pary,
(1) m‘q:[ (1) Endangered
2)  wrfrem (2) Endemic
@) T (3) Rare
4 (4) Extinct
(4) T (5) Not attempted
(5) v A & e ¢
21. Select th {
Fr=ferga § | 3741g 1 =94 B (1(; ec Iro:l non-metal frop, the
(1) @ (2) Sodium
(2) Hifead 43) Sulphur
A3) HohT (4) Copper
(4) s (5) Not attempted
5) SW
(5) &l o1 = 22. Match the items given in ¢y
T - 15 3T 7T 73 oh ehred - 11 H fg T AT <6 e )
I
1o AR I
: I i (A) Chloroplast (1) Leg
(A) FANEIEE 1) hellqrR qe (B) Rhizobium (1) El;n
(B) (1) Tt gt (C) Cuscuta (1) Les
(C) mﬁ (IH) ol (D) Pitcher plant ' (IV) Insg
ﬁ:la-{ P] i
% ﬁm ;‘ﬁq i A7) reseft e Choose the correct options bel;ry
: 1) (A)-(I g ] i
(1) (&), B)-, (C)-V), (D)-() B 0o
2 (A1), B)-), (O)-1), (D)-(V) U
() (A)-1D), (B)-(1), (O)-(1D), (D)-IV) (3) (&)=, (B)-(), (O)-(1). D
4 (A)-a11), (B)-(1), (©)-(1), (D)-(IV) (4) (A)-), (B)-(11), (C)-(1), (OHN
(5) 3™ & &A1 =ed (5) Not attempted
=HTe - 1 7 feu T #al Sl e - 11 3 g e | 28 Match the items in Column - I+
%WQWW: Column - II :
. fa:rqu; (A) T3rplhoid (1) Vz‘rlif
[ (B) Hepatitis A () Fu®
(B) e IS e (C) Malaria (111) Bac¥”
(C) I11) Gﬁﬂf‘{[ (D) Wheat rust (IV) prot”
(D) ﬁéw V) L LISIC| Choose the correct answer g
aﬁ%ﬁqﬂqﬁa?ﬁﬁ@aﬂmaﬂwﬁﬁq; below : 4
1) (A)-), B)-1, ©)-1V), (O)-0) (@) (&)-m, B)-m, ©-:
(2) (A)-(1), (B)-(111), (C)-(11), (D)-(IV) (2) (A)-(D), (B)-(I11), (c)_(II), (DH;]
G (a)-), B)-), ©)-[mD, (D)) B, (-0,
(a)-(111), (B)-(0), (©)-(¥), (P)-(10) e o
(5) T ¢t &A1 ared (5) Not att;mpti/

HANTV /F2

<15 2h1el o fe7E ZaTel / SPACE FOR ROUGH WORK
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If a body covers 100 km in 5 hours its speed

24. ﬂﬁ@ﬁ'@momaﬁ@sa‘ﬁﬁmm%fﬁ T
RS ——.——tm' | (1) 20 km/hour
A0 20TwH./5 . (2) 500 km/hour
(2) 500 f&Hl. /s (3) 20 meter/hour
(3) 20 Hiey/ et (4) 20 centimeter/hour
(4) 20 Y/ w (5) Notattempted
(5) SR I e |
25. . Which is the best conductor of heat from the
25. Tr=fafad § § HH-91 S EFTHER?(WW%? following ?
(1) et (1) Silver
3) S (8l oo
e (4) Kerosené
: (5) aiNot attempted
(5) SR I =Rd
: 26. Night blindness is caused due to the
26. il 1 T % B A © BB e o
(1) fefmc (1)  Vitamin C
() fewiD () Vitamin D
(3) TEfTA (3) Vitamin A
4 fofEB (4) Vitamin B
(5) TR IMARE (5) Not attempted
o7. fao=zaayg Afcrertat gﬁﬁﬁ% ¥ Tegm @ Gig oar | 27.  Cockroach breathe through network of air
%,ﬁi%_’,'_wm% ekasos | tubes called
(1) B (1) Diaphragm
2) i (2) Stomata
. ‘ (3) Gill
) QaﬂFﬁﬁ (4) Trachea
(5) I = 2 = : (5) Not attempted
28. Prfefad & @ I 1 ST 3 e 2 TR &7 28. gi/:ei;ile o;' the following is mot a deficiency
' /6 L : il) Goitre
(2) w (2) Scurvy
(3) eiicell (3) Anaemia
(4) A (4) Malaria
(5) T A & = (5) Not attempted
Page 7

W SRS
HANTV / F2

% e & fe1 2ame / SPACE FOR ROUGH WORK



: ¥
Www.prepp.in

29. frfafes ¥ @ 9 W IR & 1 1 femm 2 29. The planet which appears reddish in Coly,

(1) N is :
) T (1) Venus
(2) Mars
3
S (8) Earth
SN (4) Mercury
(5) ST & WA

(5) Not attempted

30. IO - I ¥ U T W ) wwrem - I, # fow o e

30. Match the items given in Column - I With
= T Rfe = those in Column - II :
I- (9= 3i) II - ( feram) I - (Digestive Organ) II - (Process)
= (A) Small Intestine (I) Chewing of fogq
e j;ﬁ Sﬂvﬁ\ SRR (B) Large Intestine (II) Churning offoqq
!k X ST 7 foets (C) Stomach (L) Absorption of
C) - N (IIT) SIS T STesIHY] food
@) T (IV) ¥t 1 S (D) Mouth (IV)  Formation of
& e 3T : faeces
(1) (A)-(), B)-av), (O)-(), (D)-() Choose the correct options below :
2 A, (B)-0), (O, ) (1) (A)-mm), B)-@V), (C)-), (D)-(1)
)  (A)-@V), (B)-(1), (O)-(1), (D)-(I) (2)  (A)-@m, (B)-(v), (C)-(1), (D)-(1)
@) (A)-V), B)-1, (©)-(m), (D)) ®)  (A)-av), B)-(m), (C)-@), (D)-)
(5) ST R o AR _ (%), A)-v), (B)-(1), (C)-(I1), (D)-(11)

(5) ‘Not attempted
31. YT R 39 a1 < Freewd (1) st () R

& T ol 1 H A SR & I 96 A9 | 1. Two statements are given, followed by tw
¥ fum & == 7 wdta e &, fvlg ¢ 6 e w9 conclusions (I) and (II).

Assuming the

A e statements to be true even if they seem to ¢
Tt T 1T 3] o SR R b 9 9 e at variance from the commonly known facts
5 /ﬁﬁﬁﬁ%l decide which of the conclusions logically
: - ﬁ 1 follow(s) from the given statements.
l = et % Stafements 5 Some dogs are fishes.
: 0 At £ isah Slome fishes are birds.
frred S: ird$
A :I)n Some dogs are birds
_ Some birds are dog®
(1) Frd (1) &R (1) 1 e € (1)  Both i G
Oth conclusions (I) ang (II) follow
7 1 fs (1) & A (1) foefetan 2 (2)  Neither coneluci
H ©f conclusion (1) nor (1) follows
(3) e Ao () a2 (3) Only conclusion (T) follows
(4) ae fshd (1) et & ) Only conclusion (1) foliows
(5) 3 A & A ) Notattempted
T % i & fo1e 2211/ SPACE FOR ROUGH WORK page!
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32. Y faheq o1 997 Y W TR 18 @ S YRR Hata

2 O S0 1< RS T § g 1
W:W::@:ﬁ?ﬁ_
(1) W
(2) TEEES
R
@ =T
(5) SWTE < IR
33. fomm =1 === s
(1) T
() T
B) HIR
EaE)
(5) ST & =R

34. ) S Rl  wE A oroAafter Hw  f

T SeaRl ¥ 39 HANH 1 99w e IR
3TER} I G ) W TH S0 g o |
. NS S AT G
e+ B 31 GRAE 5.2 216
(1) 3,5,4,2,6,1
2,6,3,1,4,5
@) 5,4,2,1,6,3
4 3,5,6,2,4,1
(5) SR T < ARd

35, fz UF Fifda FEOS F MUSSOORIE’ i

‘OTURQNTHG’ fer@1 vl 2, il SHt esmT |
DELHI’ &1 =71 feran s ?

32.

33.

34.

35.

Your Personal Exams Guide

Choose the option which is related to the thir‘d
term in the same way as the second term 18
related to the first.

Mosquito : Malaria : : Rat: __ 2

(1) Rabies
(2) Typhoid
(3) Plague
(4) Dengue

(5) Not attempted

Find the odd one out.
(1) Sparrow

(2) Parrot
(3) Pigeon
(4) Kiwi

(5) Not attempted

A set of English letters is given below in a
jumbled order. Select the combination of
numbers so that the letters arranged
accordingly form a meaningful word.

L e NOPEIS BGRA BRI 7@
e B3l s
1) 3,54,2,6,1
2 2,6,3,1,4,5
@) 52 ILGS
4 3,5,6,2,4,1
(5) Not attempted

If in a certain code language MUSSOORIE?’ is
written as ‘OTURQNTHG’, then how will
‘DELHI’ be written in that code ?

(1] FCNFK (3} FCNFK
(2) FCNGJ (2) FCNGJ
FDMGK (3) FDMGK
‘)(2 FDNGK (4) FDNGK
(5) JM 7 21 =ed (5) Not attempted
HANTY | F2 2% @i % feTe 22 | SPACE FOR ROUGH WORK s




Www.prepp.in -

rod g & ST ! g fod T Y9 I I S | 36. Read the following information to answe; the
A*BHR aidg ‘' AFER question below :
i * B is the brother of A’,
A$Bm37ﬁ%,‘A,BaﬁqFﬁ%’| A * B means

‘A is the wife of B’,
A # B 7 37 : ) A $ B means ‘A 18
d g B,.ABHIH?%I A#Bmeans‘BisthesonofA’_

TRPSQ*R# S A AR oo T B T o [P0 *R #S then, which of the follow,
T 2?2 ; \ "
statements is true -
M R Qwfmg (1)  Ris the father of Q
A S QF R (2) S is the nephew of Q
@) S, PHRER (3) S is the son of P
)ﬁﬂ’ R, P& W ¥ | (4) Ris the father-in-law of P
(5) SWE & ERY (5) Not attempted
RS PR 4 RERE L 1 T FIT 37. Find the missing term __?  in the series.
W O SHEIIDG 125552 59 sy 5’ 55’ 125
2y =2 (1)t
s i 2
i I e @ 2
(5) SO TR < Rd e
38. WAI24 m IREH i 3T =TT & 9IS 30 T TSh (5) Not attempted

24 m Teidl & 39 IE I8 97 1T gt © 3R 16

S : 38. Sarita walks 24 m towards West, then turns
m T T 1 T T A ST TSR 24 m Fewil € | to her right and walks 24 m and then turns

e 31a 319 TR foig & ferat 5T qan ferg fowm her left and walks 16 m. Again she turns b

) hfar left and walks 24 m. How far and in which
A 40 direction is Sarita from her starting point?
 E (1) 40 m, North
d/wr ; (2) 40 m, West
(3) 32m,3W (3) 32 m, North .
(4) 48 m, I=H (4) 48 m, West
(5) WA <1 =T (5)  Not attempted

39. @EfEP, Q,R, S, T U IHH XYL HTh Th

.~ | 39. SixfriendsP, Q. R ingid
ot B S STETE el ¢ foh S FH A & sP,Q,R, S, Tand U are standing
Tt H @S R, a row facing North but not necessarily in &

P et SR R FTCEN Q, T I AR same order. ‘P’ is to the left of T" and t0 ¥
3 A & ST, U A SRR Q! o T right of R. ‘Q’is on the right of T but to ¥
) fg of *S’ who s to the left of U?. Who are
ighbours of Q’ ?
(1) T@wS () Tands
(2) RARR (@) PandR
3y T#HIU B) TandU
(4) PpemT (4) PandT
(5) AR & =R (8)  Not attempteq
HANTY / F2 70 1 o feTe %eiet / SPACE FOR ROUGH WORK W
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40 Rt & safes frdt 981 ¥ R METIR ! §1 | 40. Priyanka’s birthday falls on the third Friday
: of a month. The fourth day of that month is

Sef 7 ﬁm,ﬁﬂ el 1 qeel A e | foe the first Monday of the month. What is the L
3 ST B iR I E 2 date of Priyanka’s birthday ?
1) iR (1) 2ond |
(2 15 @ 15t
23 (3) 23rd
4 21 4) 21st
(5) SW T o =ed (5) Not attempted
41. (o.5><o.5+o.5+5)smrﬂ%; 41. (0.5%0.5+0.5+5)isequalto:
(1) 035 (L) 0:39
(2) 0.45 (2) 045
[3) " 0.15 3 0.15
0.25 @) 0.25
(5) S® &l &1 9ed (5) Notattempted
42, FEEENS 2p,5pTN7 pH LCM. 3. 42, ’iI‘Sh.e L.C.M. of three numbers 2 p, Spand 7 p
(1) 75p . (1) 75p
/‘2‘) 70 P3 (2) §0 pd
S L , 3) 70p
4) 65p 4) 65p
(5) W T < e : (5) Not attempted

1 - 43. For which sum, the simple interest at the rat
43. TG TR 3%%aﬁa:aza 2 1 W P e

3 1|
of 32% per annum will be ¥ 210 in 27 years ?

T 21087 3
M 32,800 s (1) ¥2,800

(2) 2,500 @) %2,500

(3) 1,580 @) ¥1,580

(4) %2400 (4) 2,400

(5) T & A (5) Not attempted

44, fz o qa b faA quife g afmAd HHE-TTAd | 44. [faand b are two distinct integers, then which
%7 of the following is incorrect ?

(1 a+0=0+a=a (1) a+0=0t+a=a
(2) a-0=a#0-a (2) a-0=a¥0-a

B itia (3) at+b=b+a
(4) a-b=b-a

/(91) a-h=bh-a
(5) SELAE & =ed (5) Not attempted
HANTV/F2 < @@ % fe10 zar | SPACE FOR ROUGH WORK
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R

5. T e ) o wry
T kil R Wﬁﬂﬁ‘*ﬂﬁﬂam fir | 46. A certain number is divided into (y,
m a; 5 Ll : o ) iy
; ) W“ﬁ\l{m I & | 1 such that 5 times the first part acde Fly
e T S | | Added 1,
7 T"WEWI BN : times the second part makes 7 timey ;
AU R . MR T g @ number. ’I‘l_n'. ratio of the first part tﬂ ::“'
) oyl second part 18 : ie
(2) 2.3 (1) It
4 5:11 GIE L
5) S 4 5:11
bkl (5) Not attempted
46. st Wem = -
. SIE i\qﬁ @ % 65% % TR %1 | 46. Half of a certain number is equal to 65%
R T @‘”W@ﬁm@r Wﬁ%; the second number. The ratio of the .
1 e rllg\
(Wi 8e number to the second number is :
@) 13:10 (1) AL
(8)~10:13 (2) 13:10
/ 8:13 (3 10:13
(5) S| TE T = (4) 8:13
(5) Not attempted
47. 10 mx 10 mx 5 m fommsif aret oy & vt w1 gy
el T s TS Hl TG © ¢ 47. The length of the longest rod that can be place
1) in a room of dimensions 10 mX 10 m x5 mis:
M) 53 R
m
' @ 5/3m
B) 153 m
@) 15m @) 15y3m
(5) IR T o =med (4) 1Sm
(5) Not attempted
48. fore Il §, T 800 I AT 10% At Fehglg =T
F W H, T926.10 B ST Selfsh =11 Hfd SRS i g;f‘;‘rfnﬁ;‘:y years will a sum of ¥ 800 at 10%
: ) : compound interest, compounded
IS il @ ¢ semi-annually become ¥ 926.10 ? i
1
1
()82 (1 2=
) 3 Years
1
2— 1
@ 25 @ 23 years
1l Gl 1 1
ﬂ 3 (3) 3 Years
1
4 1z= ) 1% s
5) I AL & Hed
() (5) Not attempted
HANTV / F2 G 1 o 610 T2/Tet / SPACE FOR ROUGH WORK W
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20 et gy aen e & faaor A gy qen w5

49. y '
srqar 3 : 1 ¥ ¥ fiasmt N fapa g it sren s

oy & ST 4 ¢ 1 B ST 7
(1) 5

(2) 6 FR
/m” 7 e
(4) 4R

(5) S E & e

/ r I J '|
e By + 001 vt 0 W, W B
- 0.1x0.1+0.02

/41

/m -3

9

@ 3

5

5 E

41

@ 13
(5) W TE < <R

51 =f fereli g o1 forsha ea S9eh 1 4T B % T

%, 4 39 Wi o oy wfave ®
1
259
(1) 25-%
A
@) 333%

@ 162%
3

1

L}[/ 20-%
2

(5) = e = e

49,

50.

51.

prepp

Your Personal Exams Guide

20 litres of o mixture containg milk and water
in the ratio 3 ¢ 1, The amount of milk to be
added to the mixture so as to make the ratio
S L

(1) 5 litres

(2) O litres

(8) 7 litres

(4) 4 litres

(5)  Not attempted

0.2:% 0.2+ 0.01 _.

s Ny €s :
Simplification of 0.1% 0.1 + 0.02 B
41
(A
9
(2) 5
. S
(3)
Sl
(48

(5) Not attempted

4
If the selling price of an article is 3 times its

cost price, then the profit % in the transaction
is &

1

(1) 255%
(2) 33%%
(3) 16%%
(4) 20%%

(5) Not attempted

HANTV / F2

~t @19 & feru Zael / SPACE FOR ROUGH WORK
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1 .
52. ATEH TR @ y T loﬁqﬁmm%’ B 3¢t 82 Acandog:ofaworkml()days, Bcanclr),h
T T 40% I FE '
20 e e & wefer ¢ weft
[
1 . in 20 days and C cando .
FRHT = W13 R A ww ) A e GRS ’ | 3
; ho can complete the
Eap feoC work in 13 days. w : > Wh
?i Cﬁmwwqﬁm e work in minimum time ?
; (1) C
Aqen
3) A Bt 2)  AandC both
4 B @ A
. 4 B
(5) SR
L (5) Not attempted
53. I (a+ g : =g :
+b(a i %(b?;cg' (C+a)=6 : 7 : 8T [ o3 f (a+b) : (b+c) : (c+a)=6:7 :8,
BEERESEAR, ek a+b+c=14, thencis:
(1 8
(1 8
2
@ 4 Y ¥
7 3 6
: 4) 7
5) IR )
(5)  Not attempted
54. A, B ¥ C A fHea T =R ¥ T 50,000 T | 2 A B and ¢ . |
afs A3 B & T 4,000 @ @A BICH | T L o0 At‘?gether nvested I 50,000 ir
SAfyer @, @ T 35,000 F FA A9 F SS. A mvested ¥ 4,000 more than
X 2,000 (5= ' g o and B invested ¥ 5,000 more than C. Outo
AH VTR total profit of ¥ 35,000, A received :
] 213,600 (1) 13,600
(2) 14,700 (2) 14,700
(3) ¥8,400 (3) 8,400
4) 11,900 @) 211,900
(5) I W e 5)  Not attempteq
s5. T FW 1; fe H 20 Hiet werdt B0 fEe/He ¥ | 55, A clixr goes 20 metres in g second. Its SP¢
TqHI AT : mm km/h is ; :
(1) 36 (1) 36
(2) 20 (2 20
3 18 3) 18
72 . 4 72
(5) I T & (5)  Notattempteq
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6. Choose the alternative which best expresses

the given sentence in Active Voice.
will be sent today.

The invitation cards
)/Y)/They will be sending the invitation
cards today. ‘

2) They will send the invitation cards

today.
3) They will sent the invitation cards today.

4) They will have sent the invitation cards

today.
(5) Not attempted

7. Choose the most appropriate alternative to fill
in the blank. ’
The noise comes from
(1) over

((21 across

(3) against

(4) Dbesides

(5 Not attempted

the river.

8. Find out the correct indirect speech of the
following sentence. : -
He said, “Do you know German ?”
(1) He asked me if I knew German.
2) 1 asked him if he knew German.
/(,3‘]' He asked me to know German.
(4) He asked me if he knew German.
(5) Not attempted ;

9. Find out the part of the sentence which has

lrepp

ur Personal Exams Guide

61. Pick out the synonym of the underlined word
in the following sentence.
The cellphone industry has ushered a new
phase of communication.
(1) heralded
(2) _collapsed
~ completed
(4) given up
(5) Notattempted

Fill in the blank with the appropriate option

given below.
If you no confidence in self, you

are twice defeated in life.

62.

/(41 have
(2) having
- (3) - has
(4) hadnot

(5) Not attempted

Choose the alternative which best expresses
the meaning of the underlined idiom.
He had to confess his crime because he was

63.

caught red handed.

(1) _Caught very late
" Caught while doing the crime
(3) Caught sleeping
(4) Caught easily
(5) Not attempted

an error.
If he is a millionaire  he would help 64. Pick out the correctly spelt word.
: (a)- . (b) '/(,;)" minipulatiop o
the Millennium Project in the future, - ES; manipeulation
(c) d) manipulation
1) (o ; (4) menipulation
2 (@ (5) Not attemp-ted :
(3 (a) :
@y (b 65. Choose the most appropriate option to fill in
5) Not attempted the blank.
Many beggars sat the wall of the
0. Find out the antonym of ‘absurd’. temple.
(1) =~ sane (1) along
‘)2() refuse 2y in
(3) silly (3) on
) anxious (4) Dbesides
5) Not attempted (5) Not attempted
HRNTY
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66. iy . .
Y P 1 1 o o o e e | 71, e frel 8 T 9 3 g gy,
PR S——— 0
@) v ‘ ol
() i sie, & ) /(‘i‘)* b
5) T (5) T TEI A A
67. ‘mﬁ?am%mﬂﬁf%’qm% — 79, tﬁwmmﬁ’mma’f%:
fere, wafires v v 2 - (1) o foreg A 2
(2  foramacrEt (3) I IR WO Y o heft
(3) forvameam (4) T EROAW, T FE M
4) fovard (5) T A =R
(6) SWT AR
| 73. f&U T fopw v 1 oA I T @2
68. ‘A SyaTn o fakw ¥ et B . J;)/mﬁls
TR <6 {Wifehd VI3 o o waifeeh STge wafaart @
T=RE: (3) wfaff
(1 el (4)
@ == 6) ST &
@ &
@ @ 74. I SR 3 ol - S
(5) ST A A ¥ '
» 1
6. ‘<t 35 ATt L TR’ TR 1 S o1 € - 52: o ::;{
() edSRAFTE 3
2 2t g I iRt & SRl o 3
(3) o UreHH FTT 3 e
” g & e = F O I T v
(5) IR TE & Ad -
g - foe & ?wmm‘%mm@mﬁw
70. ! 9 1 A ST | -
(1) qu:rMJﬂ?f 1) E@Tﬁﬁaﬁ]‘f‘@{
T + a4 @ -ﬂﬁmﬁqﬁmﬁm
(3) 7 + 714 (3) mmm%
(4) 7 + @4 A & /T Sy
(5) I A & ed () SR 3y
T < el % feTe 2eitel | SPACE Wﬁ
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HelJ Titg SET TE’ A % 31a7d | 76. How many villages are approximately covered
currently under the scheme ‘Mahara Gaon -

76, o |

b 3 e fepar el bl wnfie R T € 2
TN Jagmag Gaon’ in Haryana ?
& 4’200 (1) 5,300
5 6’500 (2) 4,200
@ 6,000 (3) 6,500
| 3;]_{ S (4) 6,000
" (5) Not attempted

Ortere farera & weiy § Frefatad we
e s 77. Consider the following statements in respect
R foER FfTL of Motilal Nehru School of Sports.

(@) TF&TE, g # ferd 1 (a) It is situated in Rai, Sonipat.
(b) It is affiliated to CBSE.

7.

b T AT ¥ TS g
ﬁ'@?ﬁ?—ﬁ/ﬁ%'ﬂﬁﬁ/%? Which of the above statement/s is/are
3@“1 . correct ?
(1) (a) 3 (0) (1) Both (a) and (b)
@ A (a) AL D) (2) Neither (a) nor (b)
ad (a) (3) (a)only

(4  (b)only

@) ()
(5) Not attempted

(5) SR Tl o =ed

78. What is the approximate percentage of rural

78, ERETON S T SHEEA T H Fl TS Hl : :
population of the total population of

ST ToeT gfawTd 8 2 ' Haryana ?
(1) 50% : : (1) 50%
O 45% , 2) 45%
8) 65% 3) 65%
4 55% 4) 55%
5) SO Rl o =ed : ;
(5) (5) Not attempted
79, efmon AR U 1 faerd 37 & fog wies Seer
et P P 35 : feg 79. Bhainswal Kalan, famous for giving sportsmen
2 7 ferd & 7 , to Haryana and to India is situated in which
\}M R district ?
2) f (1) Bhiwani
o 4 (2) Sonipat
3 i ~ (3) Rohtak
) & - (4) Karnal .
(5) = <M AR (5) Not attempted
Page 17
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80. fr=fafea & ¥ $H-w W Wt wfeen @H!

et & fere s < @ 2

S vl

(4) TEH
(5) ST Al TRd

81. frfafad el W foaem Hifs |

(a) HEH ST oret i 4 2
(b) e sty SR 7 feuq 21

80. Which one of th
for Indian Women

(1)
(2)
E)
(4)
()

81. Consider the fol

(a)
(b)

e following places is
Hockey players ?
panchkula

Shahbad
Faridabad

Gurugram
Not attempted

lowing statements.
Masani barrage is in Rewari distr
Kaushalya Dam is in Pinjore.

Which of.the above statement/s ig/.

correct ?

(1)
(2)
(3)
- @
(5)

Both (a) and (b)
Neither (a) nor (b)
(a) only

(b) only

Not attempted

S & F- w2
() 3R (b) &

2) T (a) ARAE (b)

(3) I (a)

(4) e (b)

(5) SR TR o =

82. Wﬁﬁﬂ?—mmmwwﬁ%?.
SR
)})’ _ @i
(3) TRt

(4 W
() IR AH A A
83, RN forg o qof T4 17
1971 -
2) 1963 »
(3) 1962 |
(4) 1966
(5) TR A A A
84. efeeon 3 fret Freret @ CER)
(1) 92 :
(2) 94
o
90
() T e

| 84.

82. Which of the following is not a dance forr

Haryana ?

(1) Loor

@) Khoria
~ (3) Talghadi
(4) Phag

(5)  Not attempted

83. In whi
which year Haryana was made as &'

fledged State ?
1) 1971
(@) 1963
B) 1962
4) 1966

()  Not attempted

HOW man a
y Vid ,
there in Hmaizn?Sabha Constituenci¢®

(1) 99
) 94
B) &8s
4 9o
) Not attempteq

————
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g ﬁaﬂquw 3411}}11%1&1:@@1?{ 85. Who amongst the follsWitig“fotther UPSC
3 gRET HET F sy et S % S ECan g’;;;:gfs was an IAS Officer of Haryana
g7
d (1) Mata Prashad
Al J9S
(1) (2) Subir Dutta
“9/ f‘;jﬂ (3) P.C.Hota
(Blatde b (4) S.K. Mishra
L THAT
(4) 'QH.Q»' fa (5) Not attempted
(5) IR T Gl =Ted
‘ ol S E 86. Which amongst the following is mot a canal
F 27
'-'I?f%- (1) The Yamuna system
1
(1) ;iﬁ 1 o : | (2) The Indus system
,(2) 2 ] (3) The Bhakra system
3)  wEel o iy '
(3) ¢ - X il (4) The Lift system
(4) fawe womet |
: ‘ (5) Not attempted
(5) SRR o =ed
" e & e ET Eoerr o IR 87. Which one of the following d'istricts of_ Haryana
shares border both with Punjab and
ST 3 G AT A R § 2 ‘  Rajasthan ?
(1) TER i . (1) Hissar
@ faw ' (2) Sirsa
(3) e ‘ g (3) Kaithal
(4 fe ' : : . (4 Jind
(5) I A = (B (5) Not attempted
88, AN % Tod T HIA W& ? :
ﬂ/ﬁz | | 88. The State Animal of Haryana is :
i (1) Camel
(2) Tiger
&/- T f2aon
(3) Black buck
(4) @ @
Elephant
(5) <O e & =ed gave
(5) Not attempted

HAN
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ch amongst the following is not i

89. frefeifem ¥ $R-wr e 5 o 89. Whi 5 Hire ?
T-E'f %7 1 YR TremeR b Ha;yana’s tradltlol’lal attir
(1)~Sm (. e
(2) Chorno
il (3) Pagri
4) =X (5) Not attempted
(5) W TE < =R
90. Where is Bir Shikargarh Wildlife San
90. R ReFRTE TSt s1vamvs st arafiar &2 located ?
(1) s (1) Panchkula
(2) ST (2) Karnal
(8) @ (3 Kaithal
@) Si= (4) Jind
: ted
(5) ST = (5) Not attempte
: ! o 91. What is the one-time cash amount give
o ;gﬁ ;jﬁﬁgg ; BT =1 e e the “Kirti Chakra” awardee ?
0y 275 OO’ e (1) %75,00,000
(2) ¥25,00,000 (2) <25,00,000
(3) ¥51,00,000 (8) 51,00,000
(4) ¥1,00,00,001 (4) ¥1,00,00,001
(5) SR oA AR - (5) Not attempted
92. THeRI o s Hel SHAET & 2 92. Where is Chinkara b;'eedmg centre locat
c/(,]r)/ ORAL, Gl (1)  Morni, Panchkula
3 2) Kairu, Bhiwanj
(2) &% far 2 , Bhiwani
(3) foue, FEEA ()  Pipli, Kurukshetra
(5) SR TR < = (5)  Notattempteq
; . ' Fal ST & ? 93. Wh - : :
93. YRGd it WM efamn H Fel X loc;:i 1s Indian Institute of Manage™
in, Haryana 2
(y et i :
) Bthani
(2) @ Karnal
(3) HEPC B)  Pan chkula
@) e ) Rohtax
(5) ST & e () Not att
HANTV /F2 ¥ BI & 12 %I/ SPACE FOR Roy i b
. GHWoRK Pagez
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it r 12}
4. W%ﬁmww e 3R gy e 94. Two most important monuments of the Stat
ate

forg o R R €2 g?:tel(;l\:t :Ei;r;agau?mayun Mosque’ are
(1) Wﬂ (1) Kurukshetra
(2) RIS (2) Naurangabad
(3) RN (3) Fatehabad
Teeg (4) Mahendragarh
(5) SECTE 3 T , (5) Not attempted

)5. 39 S @l TEEr iy S e i e ®E | g5, Identify the place where Guru Gobind Singh

el & 99 IS ¥ e 52 Tl T & 8 2 stayed for 52 days after the battle with Hill
Kings ? :

(1) S e :
(1) Dhamtana Sahib

2 SN B IS

¥ (2) Gurudwara Lakhan Majra

3) RSN el IR ‘

5 , (3) Gurudwara Kapal Mochan

y ; ¢ : : (4) Gurudwara Damdama Sahib
[N TR
©) R _ (5) Not attempted

o6, TRITA S TN I Freraned H @ ferw st g ‘
96. The Third Battle of Panipat took place

a? : ¢ between :
AL S S ANER e (1) Shah Alam and Muhammad Shah
() T ieR g ST ST (2) Guru Gobind Singh and Aurangzeb
(3) R Te SR ARSI ' ~ (3) Nadar Shah and Aurangzeb
(4) TEHR IME ST SR AWST | (4) Ahmad Shah Abdali and the Marathas

(5) TR S AR ' (5) Not attempted

e
07. YoIE HE H FHA-H e i fiSH 98 ST | 97, Which day of every month is celebrated as

e # afere’! % w9 H wAE S ? “Tithi Bhojan Beti Ka Janmadin School me
Abhinandan” ?

(1) 3t Tuesday
(2) 4th Tuesday

: (3) 1St Tuesday

4 [-3

) m - (4) 2nd Tuesday
5 f =ed

(5) (5) Not attempted

. HANTV/ F2 0 1 & f31U Zeer /| SPACE FOR ROUGH WORK Page 21
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o8. Wﬁqﬂfamﬁqﬁ,ngaqmwm 08.
8T (THESH-2030) wifiaet 53 § wfeon oo &
HI-TT T ¥ 7
(1) 3
(2) swEal
(3) wEem
( iEsn)

(5) ST < =R

00. RN T Tt Tk T AT - faeren Gve o & 99.
(a) 217 SR THR siferes oy 7 feen T &1
(b)  TEH T 1,800 Wfa Ag v oo S g |
S § ¥ FH-1/ o @ 8/E?

(1) () 3R (b)
2) AT (a) ARTE (D)
W(a)

(4) Ed (b)

(5) ST @l A =@

100. mwaﬁm@ﬁ.wg’rﬁ.) Fand Frfarad | o0,
e R e HIfST
(a) SRATTH <ft T S FAE SR AN

g AfF T
TR 1 <. <1, . TR & RIS
3 a1fe B ‘
Wﬁ@aﬁﬂ-ﬁ/ﬁﬁm'ﬂﬁ%/%?
(1) (a) 3T (b) T
) 241 (a) AXAE (D)
3) F9d(2)
(b)
(5) :ﬁ??ﬁfé‘ﬂ?ﬁﬁ
.0o00"
o Tl 2 ToTT 22ITeT / SPAC
HANTV / F2

rsonal Exams Guide

p India’s Environment Repon )

As pirit: the rank of Haryang St;-j l
:c};leileving gustainable Developmey, (\
(SDG-2030) ?

m 6"

(2) 8th

@ 1

(4) 3rd

(5) Not attempted

e following statements

nsider th
o4 Scheme - a State Schey,

Widow Pension
the Government of Haryana.

A woman of age 21 years and aby

eligible.
[t carries an allowance of ¥ 1,800p.

()

iz')hich of the above statement/s i
correct ?

(1) Both (a) and (b)

(2) Neither (a) nor (b)

(3) (a)only

(4)  (b)only

(5) Not attempted

Consider the following statements about G

State Domestic Product (GSDP).

() GSDP of Haryana is more than th
Karnataka.

(b)  GSDP of Maharashtra is more tha”
of Haryana.

Which of the above statement/S is
correct ?

(1) Both (a) and (b)

(2)  Neither (a) nor (b)

(3)  (a) only

(4)  (b)only

(5)  Not attempted
~00o0-
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